—> Roc\.c a(cmSI'H)‘ ?/cw(—,:srmaﬁg\

0 Reerriers Lo ﬁ\/bc/d\'(—\
Class ™ \eerrnivig) shjechor T melen-sire.
acr. e (CL ‘BDUE\«\ wor o Q@C/\M\.

%\o_mc_a %\S—Syz:u \ Q\'\/\d -\\“04{ . A ‘?\emk—
Simel has w~lenwel Toheston )W Mo X
so\a~ RAe. What's Yuir siz2¢”

Qoobe_ i (ﬁ' .
W > 26y =
/QFZJP 3
47T )R> VA BV
R A5 TR
2R
fﬁ( > E—\‘jf & HP /"(3 E
A I Gl 203
| S——

2

Ss(Te\Ve [\
SDol < O (V_:);B (F\)> e
- 3
A = 107 ~ Mg \/ < 1O nypfcd W ES)S)
P Y % A AU

cwm

_——



Sebllig Vel by dffsion
(s s \_\ - -_Q,S ’- Siwu\[cflj | BVDL‘MS )
Jr
o

N ~
Vo Cone hAre A e = QS ~Cc

B = Tems

S shown ts be reloded o & cnd SE 8= <
E— AL+ St

R LI T N s

'o<+§Jcl

ol +St

Ao — My=0 (Leeds torbolece o shir >
Sb = O — LLO( — \’\ (SMQ\\ ?@("\\O\CS do V)D"'}' Sﬁ-ﬁ{d@)

Stoco —> Hg=0 (decovy\ed pachdles seldle

2ffeiendly )



Tachraschon and Steswing Tnraki |y
Svz ..., f?i(@) L EZR L e dos-

T Py fg  CeoreS
7{7)/14(/1/1 ( Ccutj
Ay = ’@;M) Ao duivsanmt
e T |
SDS}CM N

Doy = Q(fw\w =2 1N o 2
(R

QJA +<JA~U>fDZ'A/1r /\"(u\’w)
DX T

DO +<4/L~U>'VL NN FE (V-w)
KRS T

Molueggwe = %c)lwb- N (nshD QVML\LVJ,)%

SWVWWA ﬂmg)elo\‘,r'll? Q’)voo(uumi @QSQC% tnfle
v~ (00 km ’(by\d,e _



